A R

%) LIK HUNG _
METAL MANUFACTURING LTD. jj E&ﬁ

[SISISISISISIS)

(¢B)
()()()()()()()()()()()()()()

202l

)
O
c
c
©
e
O
D)

N
®
=
O
N
N
o)
O
O
<C




company milestones

project selection

u channel
combination channels

fittings and accs.

[
)
e
c
D
e
o
@)
(&

installation example

spring nut
threaded rod and accs.
hex nut, flat washer,

screws, end cap

load data

NG e

TRBEEGF

-
[
i
]
Ae

i)
o)
e
e
il
e

U 18 EctH

S SR A
kT M ECHE
INARRES, T,

2R, W

4-5

7-11

12

13

—
~

15

16-17



company milestones /2 7 EF24%

1960

Company founders enter the
industry

NABPNEERSITH

1991

LH is appointed one of the ma-
jor suppliers to HK government
agencies

DRI AT 15 E fiEr 2 —

2001

LH is awarded ISO 9001 for
quality management system

HHEEHEISO 90018 BB miE

2015

Hong Kong warehouse moved
to Kwai Chung, tripling Hong
Kong storage area (~1200sqm)

EEEHRE ,% RARIETTE
7—

2018

LH is awarded “Caring Com-
pany” status, for investment in
people, environment, commu-

nity.

SRR A TR

Care. Commitment. E )‘P’E”'{' V&t
for over balf & oevd’wn@'

Ew o> k% F % B

ROREE I 3

S

1985

“Lik Hung” brand of cable con-
tainment products launched

“ IR AR RS B T

1992

Dongguan factory site estab-
lished (~6000 sqm)

4 EBRNER S TR

2007

Phase 2 expansion of Donggu-
an factory site (+~9000sqm)

5 TRHEZE 9000sqm, A4
ERE

2017

Phase 3 expansion of Dong-
guan factory site to increase
assembly area (+~1100sqm)

T MEE 3t R, 18 hnE A z2

2018/19

LH is awarded their first pat-
ents and design award for new
floor service box

MR AR ERN R E—H
HMFNEIE



] E X e SRPCS (3 . a9 7 Z ‘ 2
Airport East Hall Extension P581 GZ - SZ — HK Express Link West Kow- Tuen Mun - Chek Lap Kok Link
2020 - | loon Terminus 810A ; MCIQ, 2016 - 18 2016 - 18
Hong Kong
EHE
o = =
: ot Wi, : ~iiu_ 2 &3
New World Centre H2 K11 Musea T-Park, Tuen Mun Sludge Treatment
2016 - 17 2012 - 13
Macau
BRPT

Islands Hospital Complex
2020 -

Galaxy Hotel Phas_e: 123C Lisboa Palace 7 Wynn Palace Phase 1-5
2013 - 19 2015 - 18 2006 - 2015

Other references can be found on www.likhung.hk %18 B A] Zl|/\ a) #E ik 2 E

L4 EErE T uonos|as 109fo.d




U Channel U BJfEE & 28

MATERIAL

Galvanised Steel Sheet

Mild Steel

Stainless Steel Sheet SS304 (S),

SS316 (X) - complying with ASTM A240

STANDARDS
BS 6946

LENGTH
Standard length of 3m / 6m,
Other lengths available on request

THICKNESS

1.5mm (Galvanised steel),
2.0mm, 2.5mm

FINISHES

Hot Dip Galvanized to

BS729, 1S01460, 1461

Coloured Epoxy Powder Coating /
High Grade Outdoor Powder

[EH#

SESESMR

AR

TR SS304 (S),

SS316 (X) - FFE1Z% ASTM A240

MIRIRE

BS 6946

EE
1.5mm (SESEIRR),

2.0mm, 2.5mm

SR IH B2

N= RS e AN

BRI EIRAE
BS729, 1SO1460, 1461
BB AW /

=ER BN



U Channel U ZJfE & 42

10mm
‘— 14
f t Tmm 50 /é/
21/ 41mm
28
QO 7
-— 41mm ——
UCH21 ///// UCH41
uc21 UC41
Size R~ Slotted FFL Weightkg / m EE Model number 5%
21 x 41mm 14 x 28mm at 50mm centres 1.76 UCH21
41 x 41mm 14 x 28mm at 50mm centres 2.73 UCH41
21 x 41mm / 1.91 ucz1
41 x 41mm / 2.88 uUcC41



Combination Channels 84 8Y f& =20

41mm

43mm

W

UsS2121

83mm ——=

e

AV

J &
US4141 ~ =
mm

41mm

83mm

\
\
.
_LH—

UP4141

N
:

Y
N\
e

I\

83mm

N/
AVA
\
g

83mm
USP4141

Custom combinations can be produced under client request
FE S TS BRI



Fittings and Accessories UTEEZ {4

MATERIAL

Steel plates, strip or coil
Stainless Steel Sheet SS304 (S),
S5S316 (X)

THICKNESS

6mm, or 3mm on request

FINISHES

Hot Dip Galvanized to

BS729, 1S01460, 1461

Coloured Epoxy Powder Coating /
High Grade Outdoor Powder

Other finishes can be offered on request

HOLE SIZE

14mm diameter
Other diameters available on request

[E#

R, T, WS
TR SS304 (S),
$S5316 (X)

i
6mm, AT EK3mm

RE IR

IR AIRE
BS729, 1IS01460, 1461
EERARHY /
BIRE S

Hith kiR IE W ] LUR R B RELS

EEmmILER
14mm EBEE
HhEE B EEE




Fittings and Accessories UTEEZ 4

LH1062
LH1063
LH1064

LH1026 LH1068 LH1326 <Y  LH1325

Model FU5% Weight (g) 2 [Hole Diameter FLEE Model Bugk Weight (g) 22 [Hole Diameter FLEE
LH1062 73 9mm / M8 LH1031 339 14mm
LH1063 72 11mm / M10 LH1028 425 14mm
LH1064 69 14mm / M12 LHZBO01 160 14mm
LH1065 157 14mm LH1026 157 14mm
LH1066 243 14mm LH1068 159 14mm
LH1067 330 14mm LH1326 242 14mm
LH1036 250 14mm LH1325 327 14mm



Fittings and Accessories UTEEZ {4

Model Number and Product Weight BUSE B EE

89 51

66 98 66
4
|
137 L
) 9\
2 AN I
@ @ < Q, B /@,
< 38 38

LH1358 - 450g LH1749 - 194g LH1747 - 263g

LH1034 - 342g LH1331 - 432g LH1332 - 432g



Fittings and Accessories UTEEZ 4

Model Number and Product Weight B g8 fNE(FE S

@
89 b
137 3 185
Q
Q
Q
® U
LH4376 - 358g LH4376A - 558g LH4377 - 760g
185
LH1377 - 1109g LH1737 - 530g LH2346 - 726g
136 136
43,20 43, 41
//@ [; q ;
2] 12 2] iﬁ

LH1045 - 212g

LH4045 - 180g LHZBO04 - 251g

10



Fittings and Accessories UTEEZ {4

Model Number and Product Weight BUSE B EE

b
@

@ T
80 100 m %g
LH2072 / S1 - 568¢ LH2073 / A - 1927¢
LH1130 Weight (@)
e
LH1131 Model B% | A (mm) B (mm) entie
=
93 LH1130 168 102 760
LH1131 219 152 976
38
38
50
< :
~ 8mm backing plate LH254S Length Uniformly
= A Weight (g) EE distributed load
. LH254S = 95w (ke)
150 914 477
115 200 1050 358
250 1186 286
P 350 1457 204
450 1728 159
550 1999 130
A 600 2135 119
650 2270 110

Custom sizes can be produced under client request
SRR AIFER FHKETE

11



Installation Example Z&E45F

Threaded Rod #4F (Pg. 14)

Hex Nut 7xA# & (Pg. 15)

Flat Washer 41 (Pg. 15)

Square Washer
A (Pg. 8)

Spring Nut
SR
(Pg. 13)

End Cap
BT
(Pg. 15)

£y

Diagram is a suggested example installation only
RIEREEERSE

12




Other Accessories - Spring Nut EfE 4 - 5BESFhAF

MATERIAL [E#

Stainless Steel SS304 (S), SS316 (X), 58 SS304 (S), SS316 (X)
Mild Steel Zinc Electroplated, Mild steel hot TS, BN (FFe
dipped galvanized to BS729, ISO 1460 1461 BS729, ISO 1460 1461)
SIZE R~

3/8", M6, M8, M10, M12 3/8”, M6, M8, M10, M12

Model Number
Thread Size %44 Spring Length Set comes with screw: (Zinc
r ize Hhi
eac siee EERE FEEEIR: Electroplated)
Rl% (B
3/8" 36 - SPN-L3
M6 36 M6x25 ([ElZ8 Pan Head) SPN-L6
M8 36 M8x25 ([E|Z8 Pan Head) SPN-L8
M10 36 M10x25 (7xf Hex head) SPN-L10
M12 36 M12x25 (738 Hex head) SPN-L12
3/8" 16 - SPN-S3
M6 16 M6x20 (ElZE Pan Head) SPN-S6
M8 16 M8x20 ([ElZ8 Pan Head) SPN-S8
M10 16 M10x20 (7<f8 Hex head) SPN-S10
M12 16 M12x20 (7<f Hex head) SPN-S12
3/8" 0 - SPN3
M6 0 - SPN6
M8 0 - SPN8
M10 0 - SPN10
M12 0 - SPN12
Spring
TR

13



Threaded Rod $4T

MATERIAL [

Stainless Steel SS304 (S), SS316 (X), $53 SS304 (S), SS316 (X)
Mild Steel Zinc Electroplated, Mild steel hot EiETEH, B2 (A
dipped galvanized to BS729, ISO 1460 1461 BS729, 1ISO 1460 1461)
SIZE R~

3/8", M6, M8, M10, M12 3/8”, M6, M8, M10, M12
LENGTH £

3m 3m

Model Number

Thread Size $##X Weight (g) &2 (Electroplated) BY5%
3/8" 1450 TRM3
M6 460 TRM6
M8 920 TRM8
M10 1450 TRM10
M12 2124 TRM12

Other Threaded Rod accessories E ik FE 4+

Threaded Rod Coupler Threaded Rod Clamp Drop-in Anchor
B T B te / g/ TS

14



Hex Nut, Flat Washer, Screws 7N A, ), 1254

MATERIAL =5}

Mild steel, Stainless Steel 304 / 316, M, AN8530 SS304 / SS316
Hot dipped galvanised steel £ =]

SIZE R~F

3/8”, M6, M8, M10, M12 3/8”, M6, M8, M10, M12
SCREW THREAD LENGTH BT RE

8 - 40mm 8 - 40mm

Hex Nut Flat Washer Hex / Pan Head screw
TN A JNA / [ElTER Sk
End Cap B
COLOUR Bt
Black / White / Grey 2/8/
SIZE R=F
21x41 / 41x41 21x41 / 41x41
MATERIAL g S
Plastic / Stainless Steel BB/ i
<]
7
Size R~ Model B8
21x41 UEC21
41x41 UEC41



Appendix - Load Data }fi$% - BRrEUE

+ +
2222222222 22222222 24 +
DEFLECTION DEFLECTION
AR AR
£ Span iﬁ]"ﬁl.&}ﬁﬁﬁiﬁ Max *E}EQE‘% Deflection FRREDFH Max | HHEEE Deflection Eccentric Concentric
Model (mm) Uniform beam at Uniform load Concentrated load |at Concentrated load Column Max Column Max
loading (kN) (mm) (kN) (mm) allowable load | allowable load
at slot face (kN) (kN)
ucC41 610 6.8 1.2 3.4 1.0 14.8 37.7
914 4.5 3.1 2.3 2.5 13.2 30.4
/ 1219 3.4 5.9 1.7 4.7 11.4 235
1524 2.7 9.0 1.4 7.2 9.7 18.2
1829 2.3 12.9 1.1 10.3 8.5 15.0
2134 1.9 17.2 1.0 13.8 7.5 12.7
2438 1.7 22.9 0.9 18.3 6.7 13.0
2743 1.5 29.0 0.8 23.2 6.0 9.7
3048 1.4 35.8 0.7 28.6 5.4 8.6
uc21 610 2.3 2.9 1.1 2.3 9.8 29.1
914 1.5 6.0 0.8 4.8 7.9 22.6
1219 1.1 10.4 0.6 8.3 5.9 14.0
1524 0.9 16.5 0.5 13.2 4.5 9.0
1829 0.8 23.7 0.4 19.0 3.5 6.3
2134 0.7 32.1 0.3 25.7 2.8 4.1
2438 0.6 41.7 0.3 33.4 2.3 3.5
2743 0.5 52.5 0.3 42.0 1.9 2.1
3048 0.4 65.4 0.2 52.3 1.6 1.4
UCH41 610 5.8 1.2 2.9 1.0 14.8 32.0
914 3.9 3.1 1.9 2.5 13.2 25.9
1219 2.9 5.9 1.5 4.7 11.4 19.9
1524 2.3 9.0 1.1 7.2 9.7 15.5
1829 1.9 12.9 1.0 10.3 8.5 12.7
2134 1.6 17.2 0.8 13.8 7.5 10.8
2438 1.4 22.9 0.7 18.3 6.7 11.1
2743 1.3 29.0 0.7 23.2 6.0 8.2
3048 1.1 35.8 0.6 28.6 5.4 7.3
UCH21 610 2.0 2.9 1.0 2.3 9.8 24.7
914 1.3 6.0 0.7 4.8 7.9 19.2
1219 1.0 10.4 0.5 8.3 5.9 11.9
1524 0.8 16.5 0.4 13.2 4.5 7.7
1829 0.7 23.7 0.3 19.0 3.5 5.3
2134 0.6 32.1 0.3 25.7 2.8 3.5
2438 0.5 41.7 0.2 33.4 2.3 3.0
2743 0.4 52.5 0.2 42.0 1.9 1.8
3048 0.4 65.4 0.2 52.3 1.6 1.2

Data is for reference / approximation only, may change under different applications of product use

YinEH2E, ERTRERZ T BB RER
16



Appendix - Load Data (U Channel Fittings) Fff$% - B1r&ds (U B H)

7 LOAD LOAD LOAD
‘ ; LOAD 1
| | k3 |
S | E— J F 1
LH1026 LH1026 LH1068 LH1325 LH1326
5.7kN 3.7kN 1.9kN 7.6kN 10.1kN

LOAD LOAD
IR | j
} :,,u ,,,,,
= f
3 i

LOAD

LH1326 LH1326 LH1326 LH1065 LH1331 /1332
5.7kN 4 5kN 7.6kN 3.7kN 11.3kN

Data is for reference / approximation only, may change under different applications of product use

B EHB2E, ERTRERZTBBRRLER
17



Notes (Blank)

oull

C

18



Notes (Blank)

FCER

19



Notes (Blank)

oull

C

20



Hong Kong - Office + Warehouse 1
G/F, Unit B, Mai Luen Industrial Building,
23 - 31 Kung Yip St, Kwai Chung

Tel: + 852 2743 7827

Fax: +852 2785 7655

@: sale@likhung.com.hk

Hong Kong - Warehouse 2
3C, Mai Luen Industrial Building,
23 - 31 Kung Yip St, Kwai Chung

Mainland - Factory
Wei Xing Road, Yantian District,
Fenggang Town, China

BE-EEB+ X2
2/ T34 23-319%
EMITEKRE BE#T
Eah: +852 2743 7827
fEE: +852 2785 7655
@: sale@likhung.com.hk

&5E-58

S8 T2 23-315%
KB TZEKRE 3C
HREARE - TR

FENEESBREBUSERAT
RS ERERE BEE

I1SO
9001

Quality
Management

 ETETEe
caringcompany~

www.likhung.hk



	U channel Cover
	U Channel Content
	U channel Cover

